CHAPTER IV

FINDING AND DISCUSSION

In this chapter, the writer analyzes the data. d&ta are the utterance oh
the conversation between the charactethénzoo storythey are Jerry and Peter.
So, this chapter is about the analysis of the datanswer the writer's two
research questions are about assertive acts thdt s the characters and the

social factors underlying that utterance.

4.1 FINDING

4.1.1 Assertive Acts Used IThe Zoo Story By Edward Albee

In this part, the writer analyzes data of utteraaceording to Searle’s
category of illocutionary acts. Searle divides kwfdillocutionary acts into five,
those are assertive, directive, commisive, expressand declaratives (Searle,
1979). However, the writer only focus in one kindilicutionary acts, that is

assertive acts.

Assertive acts is to commit the speaker (in varydegrees) to something's
being the case, to the truth of the expressed propo (Searle, 1979: 13). In
other words, assertive is the utterance by the kgpeto commit in doing
something. The examples of assertive are informing, describingiming,
conveying, giving statement, and reporting. Herdalsdle total number kind of

assertive acts:



NO. Form of Assertive | Frequency | Percentage (%)
Acts
1. Inform 4 9,5 %
2. Claim 5 12%
3. Convey 29 69%
4. Statement 3 7%
5. Describe 1 2,5
Total 42 100%
Data 1:

This is the first dialogue Between Jerry and Peter.

Jerry:I've been to the zoo. (Peter doesn’t notice). said, I've been to the
zoo. MISTER, I'VE BEEN TO THE ZOO!

In this dialogue, the writer finds two assertivatths spoken by
Jerry. By saying that sentence, it can be saidhbavants tonform to his
partner of dialogue that he has visiting a placenahy animals live there,
that is zoo. He uses repetition because he waries Beesn't care about

what he speaks, and he wants peter pay attentivhatf he speaks.

DATA 2

Peter: Hm?... What?... I'm sorry, were you talking to me?
Jerry:l went to the zoo, and then | walked until | came here Have |
been walking north?
Peter: (puzzled) North? Why.. I.. I think so. Let me see.
In the dialogue above, the writer finds an asgerficts that is

uttered by Jerry. He wants taform that after visiting the zoo he walks to

the north till finally he meets Peter.



DATA 3:

JERRY: (watches as PETER, anxious to dismiss him, pespars pipe)
Well, boy, you're not going to get lung cancer, yoa?
PETER: (looks up, a little annoyed, then smiles) No, Kiot from this.
JERRY: No, sir. What you'll probably get is cancer of themouth, and
then you'll have to wear one of those things Freudore after they took
one whole side of his jaw awgyVhat do they callthose things ?

In conversation above, the writer finds an asseriThat is uttered
by Jerry. By saying that sentence, Jectgims that smoking causes of

mouth cancer.

DATA 4
PETER: (uncomfortable) A prosthesis?
JERRY: The very thing! A prosthesis. You're an educated n@a, aren't
you? Are you a doctor?

Based on the conversation above Jerry asks Betert what thing
that wear in jaw when someone getting cancer, Beter know about it. So

by saying “You're an educated man” Jectgims that Peter is smart person

who has much knowledge.

DATA 5
PETER: Oh, no; no. | read about it somewhere: Time magazm |

think. (He turns to his book).



When Jerry things that Peter is an educated pelsorg not sure
about that and by saying that assertive meanshétahnveysthat he know

about it because he has read about prosthesis tinaesy.

Data 6

Jerry: | don't like the west side of the park much.

From conversation above, the writer assertive thetisis uttered by
Jerry. He utters it means that benveyshis feeling that he feels happy
when he walks to the north because he can meet, Batkif he walk to the

west, he will not meet Peter.

DATA 7
Peter. Oh? [Then, slightly wary, but interested] Why?
Jerry: [offhand]| don't know.

The writer finds assertive that is uttered by Jeby saying “I
don’t know” it can be said that lewnveys what he feels. Actually he feels
happy because meeting Peter, but he does not kmewtd deliver his

feeling to Peter, so he just says that.

Data 8

Jerry: (stands for a few seconds, looking at PETER, whalliy looksup
again, puzzled) do you mind if we talk?

Peter: (obviously minding) Why . . . no, no.

Jerry: Yes you do; you do.



Peter: (puts his book down, his pipe out and away, sg)ho, | really; |
don't mind.
Jerry: Yes you do.

In the conversation above, the writer finds assethat is uttered
by Peter. Peter and Jerry have had conversaticiefiohours, but suddenly
Jerry asks to Peter if they have talk or not. Sos&ying “No, | really; |

don't mind” Peterclaims that they do not have conversation because

according to Peter, Jerry is annoyed.

DATA 9
Peter: (finally decided) No; | don't mind at all, really.
Jerry:lt's ... it's a nice day.

The next conversation is found an assertive thapaken by Jerry,
after he asked about having conversation or nodenly he says “It's ... it's
a nice day” by saying this, Jerry conveys his feglbecause it is different
day for Jerry. Usually he feels lonely, no one ¢en partner of having
conversation, but this day he meets Peter and sidriead to be shared of

his life.

DATA 10

Jerry: I've been to the zoo.
Peter:Yes, | think you said so... didn't you?



From the conversation above, the writer findedss acts. That is
uttered by Peter. By saying that sentencectmveysthat he feels bored

because Jerry says he has been to the zoo for tinaesy.

DATA 11

Jerry:You'll read about it in the papers tomorrow, if you don't see it on
your TV tonight. You have TV, haven't you?

And the next assertive acts is uttered by Jereyconveysthat
when Peter feels bored with him, he will see thesabout Jerry in TV or

newspaper that Peter will lose Jerry.

DATA 12

Peter: Why yeswe have two; one for the children.

The utterance above is said by Petercheveysthat he has two

TV at his home.

DATA 13

Peter. Well ... naturally, every man wants a son, but...

The conversation above shows that jerry asks abBetgr’s live,
and he explain it clearly that every man want tweha son. So, it

concludesstatement.



DATA 14
Jerry: (lightly mocking) But that's the way the cookiimbles?
Peter. (annoyed)wasn't going to say that.
And for the conversation above assertive is utténedeter. Jerry

is mocking him, so helaims that he is not like what Jerry said.

DATA 15
Peter. (furious)}hat's none of your business (A silence). Do you
understand? (JERRY nods. PETER is quiet now). Well;reright. We'll

have no more children.

The utterance above is found an assertive actsPibiar is angry
because Jerry asks about his personal live. Siveeagtatementto Jerry

that it is not his business.

DATA 16
Jerry: But every once in a while | like to talk to someboy, really talk;

like to get to know somebody, know all about him.

In dialogue above is found an assertive acts wttbgeJerry. He
conveysthat he does not like to talk much to somebodyishen introvert
person. However, when he meets someone and hededbrt, so he will

talk much and ask many things as he does to Peter.



DATA 17
Peter. (he has clear his throat)ere are ... there are two parakeets. One

.. uh ... one for each of my daughters.

From this dialogue, the writer is found an asseraet. By saying
that utterance, Peteronveys that he has two parakeets for his two

daughters.

DATA 18
Peter:l ... uh ... | have an executive position wit a ... a small

publishing house. We ... uh ... we publish text b&s.

In that dialogue, Peter uses assertive acts, thakeconveysto
Jerry that he work as an executive position. Hes sapecause Jerry has

asks him about many things of his life.

DATA 19
Peter. What? Whose face? Look here; is this somethingitthezoo?
Jerry: [distantly] the what?
Peter. The zoo; the zoo. Something about the zoo.
Jerry: The zoo?
Peter. You've mentioned it several times.
The conversation above shows that Jerry always Rstes to have

conversation with him, so Jerry tell many thingattls not important for

Peter. He has tell to Peter that he will tells abdba zoo, but here he tries



telling to Peter about the zoo again. So, Petes Sdgu've mentioned it
several times.” By saying this, Peteonveys to Jerry that he is

nauseatedto hear that sentence.

DATA 20
Peter. (wary) Well, | like a great many writers; | have a
considerable...catholicity of taste, if | may say® Those two men are
fine, each in his way. [Warming up] Baudelaire, otourse ... uh ... is by
far the finer of the two, but Marquand has a place... in our... uh ...
national ...

This dialogue tells that Jerry asks Peter aboutawsurite writers,

SO by saying that sentence, Peter uses assertéyaforming to Jerry

about his favorite writers.

DATA 21
Jerry: Do you know what | did before | went to the zaaay?Iwalked

all the way up Fifth Avenue from Washington Squareall the way.

The writer finds assertive acts in the conversatdiove. It is
uttered by Jerry. Henforms to Peter that he has walks all way of

Washington Square.

DATA 22

Peter:Oh; you live in the Village [This seems to enlighten Peter.]



The writer finds assertive acts that is utteredPeyer, by saying
that sentence Petefaims that Jerry lives in the village. However Jerry

lives in the downtown.

DATA 23

Jerry: No, | don't. | took the subway down to the Villageso |
couldwalk all the way up Fifth Avenue to the zoo. tls one of
thosethings a person has to do; sometimes a perstras to go a
verylong distance out of his way to come back a sho
distancecorrectly.

And the next conversation is uttered by Jerrycbeeysthat he

does not live in the village, but he passed subgdayn to the village.

DATA 24
Jerry: ...I'll tell you. I live in a four-storey brownstone rooming-house
on the upper west side between Columbus Avenue ar@@entral Park
West. | live on the top floor; rear; west. It's a hughably small room,
and one of my walls is made of beaverboard; this lawerboard
separates my room from another laughably small room.

Based on the dialogue above, the writer finds featy is using
assertive acts. By uttered that sentence, Jeay todescribeo Peter how

his home stay is.

DATA 25
Jerry:...good old Mom and good old Pop are dead ...ou know? ... I'm

broken up about it, too ... | mean really...



Jerry is using assertive acts in his dialoguevapby saying it, he
conveysabout his life that he feels broken when someohe te loves

leave him, they are his parents.

DATA 26
Jerry:...l do know that there's a lady living on the third floor, in the
front. | know because she cries all the time. Whewer | go out or
come back in, whenever | pass her door, | always Be her crying,
muffled, but ... very determined. Very determined ndeed. But the one
I'm getting to, and all about the dog, is the landidy...

By utters that sentence in the data 26, theeverifinds that Jerry is

using assertive acts, ltenveysto Peter about the owner of the apartment

where Jerry lives.

DATA 27

Peter. | DON'T WANT TO HEAR ANY MORE. | don't understand
you, or your landlady, or her dog....

Based on the dialogue that is uttered by Peter,wther finds
assertive acts. That is Petmnveysto Jerry he feels bored and tired of

hearing the story of Jerry’s live.

DATA 28

Jerry: Peter, do | annoy you, or confuse you?
Peter. (lightly)Well, | must confess that this wasn't the kind of
afternoon I'd anticipated.



In the dialogue above, the writer finds an asserdiets that is used
by Peter. By saying that sentence, Petgrveysto Jerry that this day he
feels different, it is not like usual weekend thatdoes in the park. This
day he cannotconcentration to read because sinsit hethat park, not

long after Jerry comes close to him and tells nmstagy about his live.

DATA 29
Jerry: YOU mean, I'm not the gentleman you were expgctin

Peter:l wasn't expecting anybody.

From the conversation between jerry and peterwttier finds an
assertive acts. It is uttered by Peter, by sayhey dentencél wasn't
expecting anybody”he conveysto Jerry that he want to feel a peace park

that he feels every week, spending his time to lesfiavorite book.

DATA 30
Jerry: No, | don't imagine you were. But I'm here, and I'm not

leaving.

The next assertive is uttered by Jerry,domveysthat he never
expect that he will meet Peter, but right now halydeels happy although
he knows that his self is rather annoyed. Howeesliekls happier because

although he is annoyed, but Peter does not leame hi



DATA 31
Peter. (consulting his watcwell, you may not be, but | must be getting

home soon.

And then the next assertive is uttered by Peter.sBying the
sentencéwell, you may not be, but | must be getting home®on” Peter
at the first time is patience of what Jerry does th spoil Peter’s day, not
long after Peter is bored, so benveysto Jerry that he want to go home

because he does not feel enjoy anymore in thaéplac

DATA 32

Jerry: Oh, come on; stay a while longer.

The writer finds assertive acts that is utteredJbyry. By saying
“Oh, come on; stay a while longerhe conveysto Peter that he does not
allow Peter to back home. He does not want to beeathat there is no

one can be a partner of sharing.

DATA 33

Peter. (as JERRY ticklesph, hee, hee, hee. | must go. | ... hee, hee, hee.
After all, stop, stop, hee, hee, hee, after all, ¢hparakeets will be
getting dinner ready soon. Hee, hee. And the catseasetting the table.
Stop, stop, and, and .(He is beside himself nogw. and we're having ...

hee, hee ... uh ... ho, ho, ho.



From the dialogue that is uttered by Jerry, thetewrfinds an
assertive acts that Jerry is trying to look for tight reason to go from that
uncomfortable place, so lsenveyso Jerry that he will prepare some food

for his parakeets.

DATA 34
Jerry: Now I'll let you in on what happened at the zoo; bufirst, |

should tell you why | went to the zoo...Move over.

Based on Jerry’'s utterance above, the writer findsassertive
acts.By saying that heonveysto Peter that he does not want Peter to go
back home. So he repeats to tell many things tedids mentioned, also

about the zoo.

DATA 35
Peter. (beginning to be annoyed)ook here, you have more than
enough room! (But he moves more, and is now fairlycramped & end

of the bench).

From Peter’s utterance above, the writer finds ssedive acts. He

conveysthat he does not like when his bench is wrestedthgrs.



DATA 36
Peter. (flustered) But ... what ever for? What is thetteavith you?
Besides, | see no reason why | should give upthigdch. | sit on this
bench almost every Sunday afternoon,in good weatheft's secluded
here; there's never anyone sittinghere, so | have all to myself.

Based on Peter’s utterances above, there is aniesdeund. He
conveysto Jerry about his reason why he does not waniv® lyjs bench

easily because it is routine that every Sundayténgsshere and no one sit

there, except him.

DATA 37
Peter: People can't have everything they want. Yoshould know that;
it's a rule; people can have some of the things tlewant, but they
can't have everything.

From Peter’s utterance above, the writer finds ssedive acts. By
saying that, Jerry is trying to wrest Peter’s bertiédconveysthat they do
not livein the fairy land. All that they want cantrbelong to them at once,

but it is real live that people only can have soofethe thing, not

everything.

DATA 38

Peter: [regaining his position] God da ... mn youThat's enough! I've
had enough of you. | will not give up this bench; gu can't have it, and
that's that. Now, go away.



Based on the sentence that is uttered by Peteryiiter finds an
assertive acts. By saying that, Patenveysthat he is dejected. He has
been patiently facing Jerry all this day, but rigbtv for his bench, he will

struggle it.

DATA 39

Peter. (with disgust and impotencelzreat God, | just came here to
read, and now you want me to give up the bench. Y&e mad.

The writer finds an assertive acts in the utteramioeve. That is
Peter conveys that sentence because Jerry tells many thingsitarsd

absurd according to Peter. And it only makes higran

DATA 40
Peter. (suddenly awakening to the reality of the sitoiafiyou are mad!
You're stark raving mad! YOU'RE GOING TO KILL ME! (But
before Peter has time to think what to do,JERR¥deghe knife at Peter's
feet).

Based on Peter’'s utterance above, the writesfardassertive acts.

He give astatementthat Jerry is going to mad because he is gettingksh

when Jerry shows a knife when peter is angry toyJer

DATA 41

Jerry: Thank you, Peter. I mean that, now; thank you very
much.(PETER'S mouth drops open. He cannot move; hensfixed).Oh,
Peter, | was so afraid I'd drive you away.(Helaughs as best he can).



You don't know how afraid | was you'd go away and éave me. And
now ['ll tell you what happened at the zoo. | think... | think this is
what happened at the zoo ... | think. I think thatwhile | was at the zoo
| decided that | would walk north ... northerly, rather ... until | found
you ... or somebody ... and | decided that | woulthlk to you ... | would
tell you things ... and things that | would tell yar would ... Well, here
we are.You see? Here we are. But ... | don't know... dduiave planned
all this? No ... no, | couldn't have.But | thinklid. And now I've told you
what you wanted to knowhaven't I7And now you know all about what
happened at thezoo. And now you know what you'll &in your TV,
and theface | told you about ... you remember ...he face | told
youabout ... my face, the face you see right nowtee ... Peter...Peter
... thank you. | came unto you(He laughs, so faintlgndyou have
comforted me. Dear Peter.

From Jerry’s utterance above, he is using aseeatts. By saying
those sentences, ltenveysto Peter all what he feels since he meet Peter
at the first time. He says to Peter that he realyd someone who
accompany him even for sharing all about his life,also never plan that
he will die in front of Peter, someone who he hes meet this morning.
However peter is really happybecause before hendiepeet someone who

can listen all what jerry tells, more over Petexfi patiently.

DATA 42
Jerry: You'd better go now. Somebody might come by, and yodon't
want to be here when anyone comes.

By saying that utterance, Jerry is using assednts. Heconveys
to Peter that better he ends his life by that wayually Jerry is care about
other people’s life, it is proved, in the conditittmat he will die, he still
asks Peter to go away so that no one knows thied thdnomicide happens

there.



4.1.2 Social Factor Which Influence The Character Using @rtain

lllocutionary Acts

There are certain social factors which influencetise of assertive acts. The
speaker chooses to use it because the basic fattmrse are:

1. The patrticipants: who you are talking to and whspsaking.

N

The setting: the social context of the talk or vehitrey speak.

3. The topic: the topic of the discussion or what they talking about.

4. The function: the reasons why they are speaking.
These are the main factors why people speak ugrtgie language according to
the participants, setting, topic, and function. élerthe table total number kind of

social factor:

NO. | Type of social factor | Frequency | Percentage (%)
1. Participant 3 7%
2. Function 23 55%
3. Topic 14 33%
4. Setting 2 5%

Total 42 100%
DATA 1

Jerry:I've been to the zoo. (Peter doesn’t notice). said, I've been to

the zoo. MISTER, I'VE BEEN TO THE ZOO!

The utterance I've been to the zoo. (Peter doesn't notice). |
said, I've been to the zoo. MISTER, I'VE BEEN TO THE ZOQO!" is

uttered by Jerry. He has just from the zoo. He wtkthe north. Then he



meets Peter. So he feels happy because he meetsrs®no be partner
of sharing. So, Jerry tells to Peter that he has lbe the zoo. Therefore,

social factors that influence him to use assewdists is the participants.

DATA 2
Peter: Hm?... What?... I'm sorry, were you talking to me?
Jerry:l went to the zoo, and then | walked until | came here Have |
been walking north?

Then the next utteranc® went to the zoo, and then | walked
until I came here”is uttered by Jerry also. He say sthat becauseam¢ w

to inform that after from the zoo, he walk to tharkp So, the social

factors that influence him to use assertive adisagunction.

DATA 3

JERRY: (watches as PETER, anxious to dismiss him, pesphis pipe)
Well, boy, you're not going to get lung cancer, yoa?

PETER: (looks up, a little annoyed, then smiles) No, Biot from this.
JERRY: No, sir. What you'll probably get is cancer of themouth,
and then you'll have to wear one of those things Eud wore after
they took one whole side of his jaw awayWhat do they callthose
things ?

The utteranceNo, sir. What you'll probably get is cancer of the
mouth, and then you'll have to wear one of those thgs Freud wore

after they took one whole side of his jaw awayis uttered by Jerry. It is

said when Peter is smoking, the according to Jamgking can cause



cancer of mouth. So, the social factors that imfeieshim to use assertive

acts isthe function/ purpose.

DATA 4

PETER: (uncomfortable) A prosthesis?

JERRY: The very thing! A prosthesis. You're an educated ma,
aren't you? Are you a doctor?

Then, the utteranc&The very thing! A prosthesis. You're an
educated man”is uttered by Jerry also. It happens when he askReter
about what the thing that is wearing in the jaw wlsemeone is getting
cancer, then Peter knows about the answer thatrasthesis. So

according to Jerry, Peter is an educated persarth8social factors that

influence Jerry to use assertive acthetopic.

DATAS
PETER: Oh, no; no. | read about it somewhere: Time magaze |
think. (He turns to his book).

And the next utterance is uttered by Péteh, no; no. | read
about it somewhere: Time magazine, | think.”It happens when Jerry
says that Peter is an educated person, so he deresknows about it
because he read it in magazine. So the socialrfitab influences Peter

to use it is théunction/purpose.



DATA 6

Jerry: | don't like the west side of the park much.
Peter. Oh? [Then, slightly wary, but interested] Why?

Jerry’s utterancél don't like the west side of the park much.”
informs to Peter that he does not like walkinghe test, therefore he
walks to the north of the park. So the social fattat is influence him to

use that assertive actsfisiction/purpose.

DATA 7

Jerry: [offhand]l don't know.

Then 1 don't know” it is said by Jerry. He answers it when peter
asks why he does not like to walk to the west efflark. So, the social

factors that influence Jerry to use ithe topic.

DATA 8
Peter: (puts his book down, his pipe out and away, smjhlo, | really;
| don't mind .
Jerry: Yes you do.
The utterancéNo, | really; | don't mind” is uttered by Peter. It
happens when Peter and Jerry have had convergatitong times, the

suddenly Jerry asks to Peter if he feels objectomot when having

conversation with him, so Peter answer it thatshéne when speaking



with him. So, the social factors that influence Himnuse that assertive

acts isfunction/purpose.

DATA9
Peter: (finally decided) No; | don't mind at all, really.
Jerry:lt's ... it's a nice day.

The utterance islt's ... it's a nice day” it is said by Jerry when he
knows that Peter does not mind when speaking wiith, S0 Jerry is
feeling happy. So, the social factors that inflleetném to use assertive

acts isthe topic.

DATA 10
Jerry: I've been to the zoo.

Peter:Yes, | think you said sao... didn't you?

The utterance Yes, | think you said so”the social factor that
influence Peter to use assertive actsiction or purpose. It is because
Jerry has said that he has been from the zoo fowyrtimes, and then

Peter informs to Jerry that he has heard it mangsi

DATA 11
Jerry:You'll read about it in the papers tomorrow, if you don't see it

on your TV tonight. You have TV, haven't you?



Then the next utterance is said by Jeéipu'll read about it in
the papers tomorrow, if you don't see it on your TV tonight”
whenlJerry feels that Peter does not care anymadnartpso Jerry inform
to Peter that he will read the news about him wspaper or watching it
in TV. So, the social factors that influence Jaoyse that assertive acts

is thefunction/purpose.

DATA 12

Peter: Why yeswe have two; one for the children.

And third utterance'we have two; one for the children’it is
uttered by Peter. He informs to Jerry that he hastélevisions at home,
those for each his daughter. So the social fadt@sinfluence Peter to

use assertive actsfisnction/purpose.

DATA 13

Peter. Well ... naturally, every man wants a son, but...

In the eleventh data, Peter uttéWell ... naturally, every man
wants a son, but...”it happens whenJerry guesses that Peter wants to
have son, so Peter answer it. So, the social faélctdrinfluences Peter to

use it isthe topic.



DATA 14
Jerry: (lightly mocking) But that's the way the cookiimbles?
Peter. (annoyed)wasn't going to say that.

The next utterance i$ wasn't going to say that” it is uttered by
Peter also when Jerry says that does not have a&a ms household is
getting trouble, but Jerry reject it because hesdu# feel like what Jerry

said. So, the social factor that influence him $& assertive acts the

topic.

DATA 15

Peter. (furious}hat’s none of your business!

The utterancé'that's none of your business!” above happens
when jerry feels that he is disturbed because Jeskg him about his
personal life, so Peter answers it clearly th&t itot his business. So, the

social factor that influences Peter to use assedots ishe topic.

DATA 16
Jerry: But every once in a while | like to talk to someboy, really
talk; like to get to know somebody, know all abouhim.

Jerry’s utterance abov@ut every once in a while | like to talk
to somebody, really talk; like to get to know sometdy, know all
about him” happens when Jerry tells to peter so that Petew khat

when he feels comfort to somebody, he will sharalabut his life, so he



does it not to all people, only to certain peoplatthe feels comfort. So,
the social factor that influences Jerry to useréggeacts ighe function

or purpose.

DATA 17
Peter. (he has clear his throat)ere are ... there are two parakeets.
One ... uh ... one for each of my daughters.

The utterance above is uttered by Peter when Jdsky him about
his family, the Jerry want to know, beside Peter &avife, daughters and
cat, so Peter tells to Peter that he also has awakpets at his home. So,
by peter saying that he is giving information toryeSo, the social factor

that influences Peter to use assertive adtseisunction or purpose.

DATA 18

Peter:l ... uh ... | have an executive position wit a ... a small
publishing house. We ... uh ... we publish text b&s.

The utterance above happens when Jerry asks Hmsiat how he is
getting income for his household, so he explaiRéter that he works as
executive position , he publish the text book. Be social factor that

influences Peter to use assertive acteasfunction or purpose.

DATA 19

Peter. You've mentioned it several times.



Peter utters as above because he has heard Jesrabtaut the zoo
many times, but he does not tells it clearly, stePfeels bored about it.
So the social factor that influences Peter to tsé assertive acts the

topic.

DATA 20
Peter. (wary) Well, | like a great many writers; | have a
considerable...catholicity of taste, if | may say@s Those two men are
fine, each in his way. [Warming up] Baudelaire, ofcourse ... uh ... is
by far the finer of the two, but Marquand has a plae ... in our... uh
... hational ...

Peter’s utterance above happens when Jerry askalbboot Peter’s
favorite writer, so he explains to Jerry that he ha&ao favorite writers,

they are Baudelaire and Marquand. So the sociabrfad¢hat influence

Peter to use assertive actshis function or purpose.

DATA 21
Jerry: Do you know what | did before | went to the zoday?l walked

all the way up Fifth Avenue from Washington Square;all the way.

In the conversation above there are three uttesabegveen Jerry
and Peter. The first is uttered by Jerry. He saysdlked all the way up
Fifth Avenue from Washington Square; all the wag’ inform to Peter
about the way that he has passed. So the soctal that influences him

to use assertive actstlge function or purpose.



DATA 22

Peter: Oh; you live in the Village! [This seems t@nlighten Peter.]

The utterance above iscategorized assertive audttelts by Peter.
When Jerry tells about his home stay, Peter guabsg¢slerry lives the
village because Jerry has walked all the long vi&yJerry explanation,
Peter wants to assert if Jerry live in the village, the social factor that

influences him to use assertive actiursction/purpose.

DATA 23

Jerry: No, | don't. | took the subway down to the Villageso | could

walk all the way up Fifth Avenue to the zoo. It's ae of those things a
person has to do; sometimes a person has to go ay#ng distance

out of his way to come back a short distance corrég.

Based on Jerry utterance above, he uses assertsreHe explains
to Peter that he does not live in the village. Be social factor that

influences Jerry to use assertive acthéstopic.

DATA 24

Jerry: ...I'll tell you. | live in a four-storey brownstone rooming-
house on the upper west side between Columbus Avenand Central
Park West. I live on the top floor; rear; west. It's a laughably small
room, and one of my walls is made of beaverboardhis beaverboard
separates my room from another laughably small room.



The utterance above is said by Jerry. It happensnwlerry has
said to Peter that he has passed all the way tip &fenue from
Washington Square, then Peter guesses that Jeggyifi the village, and
then jerry says that he does not live in the vélagp he describe to Peter
about his home stay. So the social factor thauérftes him to use

assertive acts ithe function or purpose.

DATA 25
Jerry:...good old Mom and good old Pop are dead ...ou know? ...

I'm broken up about it, too ... | mean really...

The utterance above is uttered by Jerry. He telBdter about his
life. He feels lonely and does not have spiritti@ life because he does
not someone who loves him and also someone to &zl Ibecause his
father and mother have passed away. So, the dactal that influences

peter to use assertive actshis function or purpose.

DATA 26

Jerry:...lI do know that there's a lady living on the third floor, in the

front. | know because she cries all the time. Whewer | go out or
come back in, whenever | pass her door, | always ke her crying,

muffled, but ... very determined. Very determined ndeed. But the
one I'm getting to, and all about the dog, is thedndlady...

The utterance above delivers by Jerry. He tellPdter about the

landlady of the apartment that he stayed she alwags. So, the social



factor that influences Jerry to use assertive atthe function or

purposebecause he wants to inform to Peter about thatddgd

DATA 27
Peter. | DON'T WANT TO HEAR ANY MORE. | don't understand
you, or your landlady, or her dog....

Peter’s utterance above is uttered after Jerrg tetig story about
the land lady and her dog, so Peter feels tirednashys that he does not
to hear his story anymore. So, the social factat ififluences him to use

that assertive acts ke topic.

DATA 28

Jerry: Peter, do | annoy you, or confuse you?
Peter. (lightly)Well, I must confess that this wasn't the kind of
afternoon I'd anticipated.

Peter’'s utterance above happens when he feelshisatdays does
not same as usual day when he stay in the parlewdsiding book. So he

tells to peter that it is afternoon that he is@ptted. So, the social factor

that influences Peter to use assertive @ctise function or purpose.

DATA 29

Jerry: YOU mean, I'm not the gentleman you were expgctin
Peter:l wasn't expecting anybody.



The conversation above is uttered by Jerry andrPEke first 1
wasn't expecting anybody”this is uttered by Peter. He tells to Peter that
actually he stay in the park to enjoy his weekend eading his lovely
book, but this day Jerry come to him and Peter aaread the book as
usual, so he says to Jerry that actually he iserpecting anybody. So,
the social factor that influences Peter to usertigseacts isthe setting

Because if it is not happens in the park, Petegiveclerry well.

DATA 30
Jerry: No, | don't imagine you were. But I'm here, and I'm not
leaving.

Then next is No, | don't imagine you were. But I'm here, and
I'm not leaving” Jerry tells to Peter that it is beyond his expémtathat
he can meet Peter, he is really happy becausedi® He is not alone
anymore,so the social factor that influence Jeoryigde assertive acts is

the participant.

DATA 31

Peter. (consulting his watcwell, you may not be, but I must be
getting home soon.

The utterancéwell, you may not be, but | must be getting home

soon” because Peter has felt bored because he is too speelking to



Jerry so he decides to go home. So, the sociairfétat influences Peter

to use assertive actsttse topic.

DATA 32

Jerry: Oh, come on; stay a while longer.

Then the forth utterance “Oh, come on; stay a wholeger” it
happens when Peter wants to go home, so Jerryttripsohibit him by
saying that sentence. So, the social factor thiiences Jerry to use

assertive actis the topic.

DATA 33
Peter. (as JERRY tickle®)h, hee, hee, hee. | must go. | ... hee, hee,
hee. After all, stop, stop, hee, hee, hee, aftel,a@he parakeets will be
getting dinner ready soon. Hee, hee. And the catseasetting the
table. Stop, stop, and, and ..(He is beside himself ngw. and we're
having ... hee, hee ... uh ... ho, ho, ho.

The utterance above happens when Peter wants tdogee
because he does not feels comfort again in the, partkJerry does not
allow Peter to go home, and then he makes a retminhe has to

prepare for his parakeet’s dinner. So, the soabf that influences him

to use assertive acttise topic.



DATA 34

Jerry: Now I'll let you in on what happened at the zoo; bufirst, |
should tell you why | went to the zoo...Move over.

In that utterance Jerry try to make a story st theter will not
leave him alone. So, the social factor that infieesnhim to use assertive

acts isthe function/purpose.

DATA 35
Peter. (beginning to be annoyed)ook here, you have more than
enough room!(But he moves more, and is now fairlycramped &t emd
of the bench).

Peter’s utterance above happens when he sits ibbgheh while
reading, but suddenly Jerry also sits in the saameln, and Jerry move

closer to Peter, so Peter feels it is not comfasgtn@ore. So the social

factor that influences him to use assertive adisegunction/purpose.

DATA 36
Peter. (flustered) But ... what ever for? What is thetteavith you?
Besides, | see no reason why | should give up tlhench. | sit on this
bench almost every Sunday afternoon, in good weathdt's secluded
here; there's never anyone sitting here, so | havieall to myself.

The utterance above happens when Jerry wants'$d&tench.
Actually it is not Peter's bench, but in that berteh always spend his

week, so he does not want anyone to sits therepeka®. So, the social

factor that influences Peter to use assertiveiatie function/purpose.



DATA 37
Peter: People can't have everything they want. Yowshould know

that; it's a rule; people can have some of the thgs they want, but
they can't have everything.

Peter’s utterance above tries to warn Jerry whewdmds to have
Peter’s bench. Peter says that not all that we weamtcan get it at once.
So, the social factor that influences Peter to aseertive acts ishe

function/purpose.

DATA 38
Peter: [regaining his position] God da ... mn youThat's enough! I've
had enough of you. | will not give up this bench; gu can't have it,
and that's that. Now, go away.

The utterance above is said by Peter. He is angcause he has
warned Jerry not to sits in Peter’s bench, butthietry to do it, so Peter

says clearly that he will not give the bench toare; So, the social

factor that influences Peter to use assertiveiaftsction/purpose.

DATA 39
Peter. (with disgust and impotencefreat God, | just came here to
read, and now you want me to give up the bench. Y&e mad.

Peter utters the sentence above to Jerry becagsedany him,
Jerry cannot betolerance anymore, so he says ¢ngt i3 mad. So, the

social factor that influences Peter to use asserdiots isthe setting



Because if Jerry sits in that place when Peter doestay there, it is not

a problem.

DATA 40

Peter. (suddenly awakening to the reality of the sitoiafiyou are mad!
You're stark raving mad! YOU'RE GOING TO KILL ME! (But
before Peter has time to think what to do,JERRYsdsesthe knife at
Peter's feet).

The utterance above happens when Jerry shows iésdad Peter
is shock to see it, so Peter says that he is s@rkg mad. So, the social

factor that influences him to use assertive adisegopic.

DATA 41

Jerry: Thank you, Peter. | mean that, now; thank you verymuch.
(PETER'S mouth drops open. He cannot move; heaisstixed).Oh,
Peter, | was so afraid I'd drive you away.(He laughs as best he can).
You don't know how afraid | was you'd go away and éave me. And
now I'll tell you what happened at the zoo. | think... I think this is
what happened at the zoo ... | think. | think thatwhile | was at the
zoo | decided that | would walk north ... northerly, rather ... until |
found you ... or somebody ... and | decided thatwould talk to you ...
| would tell you things ... and things that | wouldtell you would ...
Well, here we are.You see? Here we are. But ... | don't know... @dul
have planned all this? No ... no, | couldn't hawe.Bthink | did. And
now I've told you what you wanted to knowhaven't I?7And now you
know all about what happened at the zoo. And now yoknow what
you'll see in your TV, and the face | told you abot... you remember
. the face | told you about ... my face, the facgou see right
now.Peter ... Peter... Peter ... thank you. | camanto you (He laughs,
so faintlyand you have comforted me. Dear Peter.

Jerry’s utterance above is a clear consciencev, Ne really tells

what that actually happens. Actually all that Jamgeds is a friend to



accompany his life, and right now, Jerry is redibppy before he die
because he has find a person who he can sharerapgibout his life.
So, the social factor that influences Jerry to assertive acts ishe

function/purpose.

DATA 42
Jerry: You'd better go now. Somebody might come by, and yodon't

want to be here when anyone comes.

The utterance above is said by Jerry. It happetes dérry shows his
knife and Peter afraid that Jerry will kill him,elPeter try to take the
knife, so that knife is in Peters hand than whdreyt quarrels
unconsciously Peter kills Jerry, but Jerry does anaogry, he is happy
because finally he will not feel lonely anymore., Serry thanks to Peter
for what Peter has done and Jerry asks Peter esvgy so that no one
knows that tragedy. So, the social factor thatuerices Jerry to use

assertive acts ithe participant.

From the analysis above can be seen that Asseatigeapplies iThe Zoo
Storydrama by Edward Albee. Based on the data foundad2 of Assertive acts
which consist of inform 4 (9.5%), the second isml® (12%), then convey 29

(69%), the fourth is statement 3 (7%), then theikadescribe 1 (2.5 %).



Then for the second, it explains about socialdiathat is used, such as
participant 3(7%), function 23 (55%), topic 14 @3, and the last is setting 12 (5

%).

Based on the explanation above, it can be concltidaidthe most form of
assertive acts that obtained in the interview betwéerry and Peter ifhe Zoo
Story drama by Edward Albee is convey 29 utterance 8fd6while the least
form of Assertive acts that obtained in this isald® 1 utterance or (2.5 %) and
for the social factor that influence Jerry and Pé&beuse assertive acts the most

used is function 23 or (55%) and the least us@das(5 %).

4.2 Discussion

Everyone is using language to communicate each.ddyeusing language
people could exchange idea, information and alsmdgmmmunication. Every
speaker has an intended meaning when they uttegthorg. To understand what
what they really mean is impotant in order to aveigcommunication and have
good communication. In this research both Jerry Reter have an intended
meaning of what they say that is in the form opini, claim, convey, statement
and describe. To make more understand about liEgesearcher used the theory
of Searle to analyze the utterance in this intevvie

After analyzing based on the form of assertives,athe writer also

analyzes the social factor that influence the attarao use assertive acts to help



the reader easily understand what other people saidrder to have good
communication.

The next section discusses about the finding @fddta analysis. After the
writer analyzes the data of assertive acts, ther@2 data which consist of infom
4 (9.5%), claim 5 (12 %), convey 29 (69%), statetri®r{7%), and describe 1
(2.5%). Meanwhile for the data of social factorttimiluence the character to use
assertive acts such as participant 3 (7%), fun@®1§55%), topic 14 (33%), and
setting 2 (5%).

Overall, in this study shows that from the chaadhat is Jerry and
Peter’s utterance, they use assertive acts antsat iafluence by some social
factor that has mentioned above.

The last, it is recommended for further study hoase an object that is
related to assertive acts. Because the correlal®&m help the writer to analyzes

easily.





